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1. TSR il 9 feu T 6 st | & foredi 4 st o 3T @i | 4x1=4
(1) ‘Communication’ waﬁwﬁrﬁa?ﬁ&rwﬁgﬁ% 7 1
(A) Communicate (B) Computer

(C) Communicare (D) Community
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(i) Please read the instructions carefully.

General Instructions :

(it) This question paper consists of 21 questions in two Sections : Section-A
& Section-B.

(iti) Section-A has Objective Type Questions whereas Section-B contains
Subjective Type Questions.

(iv) Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15
questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct
order.

(vi) Section-A : Objective Type Questions (24 marks)
(a) This section has 05 questions.
(b) It is mandatory for every student to complete all the questions as

per instructions.

(c) There is no negative marking.
(d) Do as per the instructions given.
(e) Marks allotted are mentioned against each question/part.

(vii) Section-B : Subjective Type Questions (26 marks)
(a) This section has 16 questions.
(b) A candidate has to do 10 questions.
(c) Do as per the instructions given.

(d) Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)

1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1) The word ‘Communication’ comes from the Latin word . 1
(A) Communicate (B) Computer
(C) Communicare (D) Community
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(11) Find the passive voice for the following active voice sentence :
“Jayesh has sent the email.” 1
(A) The email had been sent by Jayesh.
(B) The email has been sent by Jayesh.
(C) The email was sent by Jayesh.
(D) The email will send by Jayesh.

(iii) SHS & HY Ul TS hIE HAfARTH Wisd 9 c&aras, o=, stifean, ifsa snfe i

e 12 | 1
(A) IS (B) ThISH 3AeTHC
(C) Wie=t (D) II-hicet
(v) Trafafad Sguror =i ufed 3 368 efaa SDG &1 98y ; 1

“Tgg} H e T TATTEEeR T AT ], S Y e Rl Ted L T @ | Teu & EER
HETETR o1 ST gl Sfie o1 sy W@ o fo1e 3w & |”

(A) W RS (B) TW=s UM 3R W=l

(C) Tt 3R = Sl (D) A & e Sfted

(v) Suftars an # fefaiad wUF o fo 98t =1 Torq sqmsy 1
“Teh ST SATHT T 1ol SATch &) ST gran & |
A) @& (B) Td

(vi) = feu T 3fa fershea 1 wram ot T3 &1 3T e : 1
WU (A) 1 T 9RA | UTE-2T3H ehdt TEf g uté ifen arg feid) e et |
TR (R) : I8 Wiiforeh o141 o1 SCa0 § |
(A) (A) 3R (R) 1 T 8 3R (R), (A) T T ST 2 |
B) (A) 3R (R) i & &, AT (R), (A) 1 T TTIahaor e 2 |
(C) (A) w8, Wl (R) Terd 2 |
(D) (A) Tq 7, AR (R) 1 2 |

feu T 6 o1 § & fohegi 5 AT o I G | 5x1=5
() T reE $i fewice feoxt fagi g 7 1
(A) vEufFed (B) e
(C) wmEs (D) <™
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(11) Find the passive voice for the following active voice sentence :
“Jayesh has sent the email.” 1
(A) The email had been sent by Jayesh.
(B) The email has been sent by Jayesh.
(C) The email was sent by Jayesh.
(D) The email will send by Jayesh.

(111) An additional file such as documents, picture, audio, video etc. that

1s sent along with the e-mail is known as . 1
(A) Accessory (B) File attachment
(C) Folder (D) Sub-folder

(iv) Read the following extract and identify the SDG related to this :
“Tons of plastic is found in seas, which is killing marine life. Saving
our oceans from pollution is necessary to preserve the marine life.” 1
(A) Life on land (B) Clean water and sanitation
(C) Affordable and clean energy (D) Life below water
(v) State True or False for the following statement about

entrepreneurship :
“Only a person having a big business is an entrepreneur.” 1
(A) True (B) False

(vi) Answer the question selecting the appropriate option given below : 1

Assertion (A) : Rama was unable to find a part time job in India
because she doesn’t know Hindi.

Reason (R) : This is an example of physical barrier.

(A) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct
explanation of (A).

(C) (A) 1s correct, but (R) 1s not correct.

(D) (A) is not correct, but (R) is correct.

2. Answer any 5 out of the given 6 questions. 5x1=5
(1) What is the default display window in Maya workspace ? 1
(A) Perspective (B) Front
(C) Side (D) Top
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(A) e @ = et (B) T dFER
(C) Uk BftT qepieh (D) =R T
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(i) Till in the blank :

The _ 1slocated at X, Y, Z, position of 0, 0, O. 1
(A) Tool box (B) Channel box
(C) Origin (D) Axes

(111) What do the XYZ Axes represent in a 3D co-ordinate system ? 1

(A) Length, width, height
(B) Time, distance, speed
(C) Colour, brightness, contrast

(D) Quantity, weight, temperature

(1v) What is the function of the ‘Time Slider’ in Maya ? 1
(A) Adjust lighting (B) Change the view
(C) Texturing a 3D model (D) Control the duration of animations

(v)  Which of the following is NOT an example of marking menu ? 1
(A) Edge (B) Texture
() UV (D) Face

(vi) What does X and Y Axes represent in coordinates ? 1

(A) Vertical and Horizontal Axes
(B) Horizontal and Vertical Axes
(C) Both Axes represent Vertical values

(D) Both Axes represent Horizontal values

3. Answer any 5 out of the given 6 questions. 5x1=5
(1) What does the term ‘materials’ refer to, in Maya ? 1
(A) Animage file (B) A tool
(C) Shaders (D) A modeling technique
(11) What are ‘seams’ in Maya ? 1

(A) Visible lines or edges (B) Texture type
(C) Mapping technique (D) Texture colour
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111 at 1s the function of Bump map *

(i11) What is the f ' fB ? 1
(A) To create colour variations.
(B) To create illusion on surface.
(C) To change the model shape.

(D) To create reflections.

(1v) Which option changes the orientation of the UV shell ? 1
(A) Separate (B) Autoseams
(C) Marquee (D) Flip

(v)  What is the default value and colour for Alpha offset ? 1
(A) 1, Black (B) 0, Black
(C) 0, White (D) 1, White

(vi) Which option controls amount of texture’s default colour is mixed
into the texture colour ? 1
(A) Filter (B) Colour remap
(C) Blend (D) Invert

4. Answer any 5 out of the given 6 questions. 5x1=5
(1) What is the use of 3D paint tool in Maya ? 1

(A) To paint textures directly onto the model’s surface
(B) To animate the model
(C) To adjust lighting effects

(D) To model new geometry

(11) Which file format is used for texture images ? 1
(A) .txt (B) .doc
(C) .jpg (D) .mel

(111) Displacement bounding box can be used to : 1

(A) Transmits light
(B) Diffuse light
(C) Speed up Maya operations
(D) Adds brightness
102 Page 9 of 16 ~ P.T.O.
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What is “UV unwrapping” in texture ? 1
(A) Mapping a 3D surface to a 2D texture.

(B) Animating textures.

(C) Applying a shader to a 3D model.

(D) Lighting a scene effectively.

Displacement maps can cast shadows. 1
(A) True (B) False

The Translucence Focus Value controls how much translucent light

is scattered depending on the ______ of the light. 1
(A) amount (B) colour

(C) focus (D) direction

Answer any 5 out of the given 6 questions. bx1=5

@

(i)

Answer the question selecting the appropriate option given below : 1
Assertion (A) : The status line, in Maya provides important
information about the current state of the application.
Reason (R) : The status line provides quick access to tools to make
our work fast.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A) is true, but (R) 1s false.
(D) (A) is false, but (R) is true.
Answer the question selecting the appropriate option given below : 1
Assertion (A) : Bump maps create the illusion on the surface, it
makes elevation look real.
Reason (R) : Bump maps do not change the geometry of the model.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A) is true, but (R) 1s false.
(D) (A) is false, but (R) is true.
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(111) Identify the type of map from the following extract and image : 1

“These maps are grayscale textures applied on an image that also
adds true dimension to a surface at render time.”

(A) Colour maps (B) Displacement maps
(C) Reflection maps (D) Specular maps

(1v) Identify the type of texture from the following statement : 1
“This texture wrap around an object, like gift wrapping, or apply
wallpaper.”
(A) 3D texture (B) 2D texture
(C) Environment texture (D) Layered texture

(vy A ___ icon indicates that a texture has been mapped to an
attribute. 1
(A) ¢ (B) Z
©) é\\\ (D) K

[ J

(vi) In specular map, what does a black value (0) represent ? 1
(A) Full shine (B) Minimum or No shine
(C) Transparent area (D) Reflective area

SECTION - B
(Subjective Type Questions)

Answer any 3 out of the given 5 questions on Employability Skills. 3x2=6
Answer each question in 20-30 words.

6. Write any two disadvantages of Visual Communication. 2
7. What is ‘A-Achievable’ in SMART goals ? 2
8.  What are the control keys on a keyboard ? 2
102 Page 13 of 16 ~ P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

102

ERE

e
Teh el THTS Sl TEG3T hl HITd S A T hdl TGg Hdl 8 ? 2
it faspa w2 7 2

feu e 6 g @ fordl 4 w1 o I AT | Tk T 1 3T 20-30 vsei | i |

4x2=8
Teh SR 3TidRe 6 fopedl g1 Rt =i ferf | 2
MEL 37 ShHTg &8 &1 489 § 991sy | 2
Trafefigd woF 1 Ot TIse] § HHETST 2

“Rpcet JTThHe TFa= o 3 gaciud i FRIG il &, ST o= o SAaieh T § gidl
2, (3 fop 31f@i & wm) 17

THII AHUTSS o1 IuH forear & hHifvra | 2
T HiFed Tt & el T 3= ° I3 & ST 9disy | 2
() TEHRHATHIRIIEBAR ? 2

(i) STEUE AT O 3R 1 O ST 1 A 7 ?

fewTu 5wl § 9 foredi 3 Teal o I ST | Tk I9 1 I 50-80 rec] # ST |

T FeheE 1 F2, F3, F4, F5 g $is (hotkeys) % U G § THTEY | SX4_1i
Tegert B9 =1 ] 7 wicroia § Wegert A9 & fafi= amugs fofe | 4
yfdfes Ag #0127 @& (True) Sl s Y faf serew afga fefan | 4
T AT TR 7 T 1 % v o fafie ades fofian | 4
(i) I (UVs) 1 =W Ha fepan Smar @ 7 4

(i) =& (UV) Bft o g e g 7
(iii) Teregi € et (UV) At derfieni s = fetfiare |
(iv) FE (UV) BT E 3 (U) 3t (V) w1t wn g 2

Page 14 of 16 ~




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

102

(=] =]
m{%
=

How does an entrepreneur help society in reducing prices of products ? 2
What 1s sustainable development ? 2
Answer any 4 out of the given 6 questions in 20-30 words each. 4%x2=8
Write any two responsibilities of a texturing artist. 2
Briefly explain MEL and Command line. 2
“Filter offset controls the texture blur in texture space (not eye space).” 2
Explain the statement in simple words.

Describe the texture background in detail. 2
Describe any two uses of Maya software in video gaming industry. 2
(1) What is function of Transparency map ? 2
(11) What is the meaning if we set transparency to 0 and 1 values ?

Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12
Briefly explain use of F2, F3, F4, F5, hotkeys in Maya workspace. 4
Explain Specular map. Write various parameters of specular map in
Photoshop. 4
Explain Reflection map. Give example for the process to create true
reflections. 4
Explain Colour maps. What are different ways in which you can work
with colour in Maya ? 4
(1) How do you pronounce UVs ? 4

(11) What is the main function of UV mapping ?
(111) Write name of any two UV mapping techniques.

(iv) What is the meaning of U and V in UV mapping ?
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